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Code No.  34
Total No. of Questions : 39 ] [ Total No. of Printed Pages : 15

March, 2008

CHEMISTRY
( Kannada and English Versions )

Time : 3 Hours 15 Minutes ] [ Max. Marks :  90

( Kannada Version )

‚ÂÍºÂ» : i) ® …ÂX‡R …ÂãXxŒÈëY »Ê‹È@ êü˘ÊπÂπÂúÕ.

ii) êü̆ÊπÂ - A, B, C ÆÂÈ∆ÂÈO D πÂ›Â Ø£ÊY …ÂX‡RπÂ›Â»ÂÈR ê«ÊWå˘̊¸πÂ›ÂÈ

©∆ÂOà‚ÂüÒ∑È.

iii) êü̆ÊπÂ - A ŒÈ …ÂX‡R ≤¢«Âx@ ≤¢«ÂÈ •¢∑«Â¢∆ 10 •¢∑πÂ›ÂÈ, êü̆ÊπÂ - B ŒÈ

…ÂX‡R  ≤¢«Âx@  2  •¢∑«Â¢∆  20  •¢∑πÂ›ÂÈ,  êü̆ÊπÂ - C ŒÈ  …ÂX‡R
≤¢«Âx@  5 •¢∑πÂ›Â¢∆ 40 •¢∑πÂ›ÂÈ êü̆ÊπÂ - D ŒÈëY D 1  êü˘ÊπÂ 10

•¢∑πÂ›ÂÈ     D 2  êü˘ÊπÂ«ÂëY …ÂX‡R ≤¢«Âx@ 5 •¢∑πÂ›Â¢∆ 10

•¢∑πÂú¬ÂÈ∆ÂOÕ.

iv) •πÂ∆ÂWê¬ÂÈÕÂëY •¢«ÂÕÊ«Â Ñ∆ÂXπÂ›Â»ÂÈR ÆÂÈ∆ÂÈO ‚ÂêÈË∑¬Â≈πÂ›Â»ÂÈR Ã¬íÈà.

êü˘ÊπÂ - A

‚ÂÍºÂ» : i) Ø£ÊY 10 …ÂX‡RπÂ›Â»ÂÈR ©∆ÂOàö.

ii) ® …ÂX‡RπÂúπ ≤¢«ÂÈ …Â«Â«ÂëY •«˘̊ÂÕÊ ≤¢«ÂÈ ÕÊ∑W«ÂëY ©∆ÂO¬ÂπÂ›Â»ÂÈR

Ã¬ŒÈüÒ∑È. …ÂXã …ÂX‡RπÂÍ ≤¢«ÂÈ •¢∑ê¬ÂÈ∆ÂO«. 10 × 1 = 10

1. ™«ÂÈ ∑È‹ÈÆÈŒÈëY ∑èU≈«Â ‚Â¢πÂX„Â} ÆÂ⁄√ÂÈÕÊπÂ «Â„Â»Â ÄXûÈ »Â√ŒÈÈÕÂ ü˘ÊπÂ«ÂëY ¶πÂÈÕÂ

ÄXûÈŒÈ»ÂÈR Ã¬íÈà.
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2. üÊ|Y¸| Ỗ»ÂÈ ‡XË·ÂK •ç‹å¢«Â ∑¢√ÂÈõâ«Â ÆÍ«Â‹ ‚Â¢ŒÈÈ∑OÕÂ‚ÂÈOÕÂ»ÂÈR ( Compound )

„‚Âàö.

3. xÍüÊ£˜ÔJ ÆÂÈ∆ÂÈO ‚Â∆ÂÈ ‹ÕÂ≈πÂ›ÂëY Œ⁄ÕÂÏ«ÂÈ yÊ¢ãËŒÈ x\Ë∆ÂX«Â ∑√π ¶∑ô¸‚Â‹S√ÂÈ∆ÂO« ?

4. 0·5 M πÂ¢«˘ÂyÊÆÂÈY«Â pH ∞»ÂÈ ?

5. ‚ÛËâŒÈ¢ xÍYË¬Ú√ Ỗ «ÊXÕÂ≈«Â …Â¬Ê‚Â¬Â∑ ≤∆ÂO√ÂÕÂÏ πÂÍYxÍË‚ Ỗ «ÊXÕÂ≈Ä@¢∆Â „ºÊEÇ¬ÂÈ∆ÂO«.

∞x ?

6. •‹ÍWêÈçŒÈ¢ xÍYË¬Ú√ Ỗ ÆÂÈ∆ÂÈO …Ì|ÊöŒÈ¢ xÍYË¬Ú√ Ỗ ßÕ¬Â√Â¬ÂëY πÛË£ ỖL ‚Ê£ Ỗ •»ÂÈR
„…ÂÏSπÂáJ‚Â‹È Œ⁄ÕÂÏ«Â¬Â ∑âÆÈ ‚Ê¢«ÂX≈ üÒyÊπÂÈ∆ÂO« ?

7. ‚ÛâŒÈ¢ xÍYË¬Ú√ Ỗ»ÂëY»Â ‚ÂTá∑ {Ê‹∑«Â „‚Â¬Ò»ÂÈ ?

8. ( ) CH 3   3
  N ß«Â¬Â IUPAC „‚Â¬Â»ÂÈR Ã¬íÈà.

9. ∆Ú‹«Â ÕÂ≈¸ÕÂ»ÂÈR »Ê‡Â ÆÂ⁄√ÂÈÕÂ ÕÂ‚ÂÈOÕÂ»ÂÈR „‚Âàö.

10. ß» Ỗ‚ÂÈë» Ỗ»ÂëY ß¬ÂÈÕÂ Ø¬Â√ÂÈ …Êë…… Ỗ|Ú√ Ỗ ‚Â¬Â…ÂúπÂ›Â ÆÂÈ«̆W Œ⁄ÕÂ ∆Â¬Â„Â«Â Ã¢«Â̆ ß¬ÂÈ∆ÂO«

?

êü˘ÊπÂ - B

‚ÂÍºÂ»: i) Œ⁄ÕÂÏ«Ê«Â¬ÂÍ „Â∆ÂÈO …ÂX‡RπÂ›Â»ÂÈR ©∆ÂOàö.

ii) …ÂXãûÍ¢«ÂÈ …ÂX‡RŒÈÍ Ø¬Â√ÂÈ •¢∑πÂ›Â»ÂÈR „Û¢å¬ÂÈ∆ÂO«.

10 × 2 = 20

11. ∑âÆÈ ©·ÂN∆ŒÈëY ß¢πÊ‹«Â ÆÍ»Êx] Ú√ Ỗ ß¢πÊ‹Ä@¢∆Â ©∆ÂOÆÂÈ •…Â∑·Â̧ ≈yÊàŒ⁄Ç¬ÂÈ∆ÂO«.

ß«Â»ÂÈR ØëY¢π Ỗ„ÊWÆÂ¤ Ỗ »Âx\ŒÈ ‚Â„ÊŒÈå¢«Â êÕÂàö.
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12. ëå̊̆ŒÈ¢ •≈Èê»Â •≈È¬Â∑\∑ ¬ÒzŒÈ ‚Â¢ûÍËæ»ŒÈ»ÂÈR Ã¬íÈà. •«Â¬Â yÊ¢ãËŒÈ πÂÈ≈ÕÂ»ÂÈR

Ã¬íÈà.

13. xÚ¬Â£ Ỗ yÊÃ¸» Ỗ …Â¬ÂÆÂ⁄≈È Ø¢«Â¬Ò»ÂÈ ?  α D ( + ) £ÊWÄJy˜Ô ¶ÆÂÈY«Â ¬ÂºÂ»ŒÈ»ÂÈR Ã¬íÈà.

14. 5 ¶¢…Ò¬ Ỗ ê«ÂÈW∆ÂO»ÂÈR „ÊíÈö 56 ‚¢.êÈË.  3  æ‹æ»Â∑ÕÂ»ÂÈR STP ŒÈëY è√ÂÈπÂ√πÛú‚Â‹È

üÒyÊπÂÈÕÂ ‚ÂÆÂÈŒÈÕÂ»ÂÈR ∑¢√ÂÈõâíÈà.

15. …Ì|ÊöŒÈ¢ „Ú√ÊXx] Ú√Â»ÂÈR …Ì|ÊöŒÈ¢ √ÚxÍXÆÈË| Ỗ {Û∆π ‚Òàö«ÊπÂ ¶πÂÈÕÂ

…Âà}ÊÆÂÈÕÒ»ÂÈ ?

16. •…Â∑·Â̧ ≈ÕÊπÂ«Â ‚Â∑@¬ŒÈ ( Non-reducing sugar ) „ÊÕÂ∆ Ỗ̧  ¬ÂºÂ»ŒÈ»ÂÈR Ã¬íÈà.

17. "πÛË£ ỖL »Â¢Ã¬ Ỗ# Ø¢«Â¬Ò»ÂÈ ?  πÛË£ ỖL ‚Ê£ Ỗπ ∞x Ü£á» Ỗ ‚Òà‚ÂÈ∆ÊO¬ ?

18. BCC ‚ÂTá∑«Â ãX{ÊW»ÂÈ…Ê∆Â ÕÊWéO ( Radius ratio ) ∞»ÂÈ ?  •«Â¬Â ‚ÂÆÂÈ»ÂZíÈË ‚Â¢zW ÆÂÈ∆ÂÈO

{ÊWêÈãŒÈ»ÂÈR ( Geometry ) ãúö.

19. ‚Â¢∑XÆÂÈ≈ £ÛË„ÂπÂ›ÂÈ ∞x ‚Â¢ŒÈÈ∑O ‚Â¢ÄË≈¸πÂ›Â»ÂÈR xÍ√ÂÈ∆ÂOÕ ?

20. ≤¢«Û¢«ÂÈ ÄXûÈŒÈ ÆÂÈÍ‹∑ ∆ÛËàö :

i) πÂÍYxÍË‚˜Ô»ÂëY ±«ÂÈ – OH πÂÈ¢…ÂÏπÂú¬ÂÈ∆ÂOÕ.

ii) ¶¬ÂÈ ß¢πÊ‹«Â …Â¬ÂÆÂ⁄≈ÈπÂ›ÂÈ »Ò¬Â ‚Â¬Â…ÂúŒÈëY¬ÂÈ∆ÂOÕ.

21. 3 πÊX¢.  ŒÈÍàŒ⁄ÕÂ»ÂÈR   9 πÊX¢.   çËà»ÂëY   ∑¬ÂÇö«.   ‚Ê…Ò∑\   ∑âÆÈ  

üÊ·ÛSË∆ÂO√ÂÕÂ»ÂÈR ( Relative lowering of vapour pressure ) ∑¢√ÂÈõâíÈà.

22. ® x›ÂÇ»Â ‚ÂêÈË∑¬Â≈«ÂëY A, B, C ÆÂÈ∆ÂÈO D πÂ›Â»ÂÈR πÂÈ¬ÂÈãö :

C 2  H 6  
  A  

 → CH 3  CH 2  Cl  
  B  

 → CH 3  CH 2  OH  
  C  

 →

CH 3  COOH  
  D  

 → CH 4  
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êü˘ÊπÂ - C

I. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ Ø¬Â√ÂÈ …ÂX‡RπÂúπ ©∆ÂOàö : 2 × 5 = 10

23. a) …Êy Ỗ̧ »Â ê«˘Ê»Âå¢«Â öË‚Â«ÂëY»Â üú_ŒÈ»ÂÈR ( Desilverisation of lead )

üÒ…Â̧ â‚ÂÈÕÂ ê«˘Ê»ÂÕÂ»ÂÈR êÕÂàö.

b) ® x›ÂÇ»ÂÕÂÏπÂúπ IUPAC „‚Â¬Â»ÂÈR Ã¬íÈà :

i) 



 Cu ( ) NH 3   2 ( ) H 2 O   2    Cl 2  

ii) Na 3 [ ] Fe ( Ox ) 3    . 3 + 2

24. a) ¶ÆÂÈYæ»Â∑ •≈Èê»Â ß£yÊd»˜Ô ê»ÊW‚ÂÕÂ»ÂÈR Ã¬íÈà. Ã¢«Â̆ ∑XÆÂÈÕÂ»ÂÈR ( Bond

order ) ∑¢√ÂÈõâíÈà. ¶ÆÂÈYæ»Â∑ ÆÂÈ∆ÂÈO æ‹æ»Â∑ •≈Èê»ÂëY Œ⁄ÕÂÏ«ÂÈ „ºÂÈE

öP¬Â ÆÂÈ∆ÂÈO ∞x ?

b) ëπÊW¢√ Ỗ Ø¢«Â¬Ò»ÂÈ ?  Ã„ÂÈ«Â¢ãËŒÈ ëπÊW¢√ Ỗπ ( Polydentate ) ≤¢«ÂÈ

©«Ê„Â¬Â} xÍâ. 3 + 2

25. a) xÍXËÆÈÚ| Ỗ •åàç¢«Â ‡ÂÈ«ÂQM …Ì|ÊöŒÈ¢ √ÚxÍXËÆÈË¡Ô»ÂÈR „Òπ ©∆ÊSå‚ÂÃ„ÂÈ«ÂÈ

?

b) «ÂÈWãê«ÂÈW∆ Ỗ …Âà}ÊÆÂÈÕÂ»ÂÈR ∆ÛËà‚ÂÈÕÂ ≤¢«ÂÈ £ÛË„ÂÕÂ»ÂÈR „‚Âàö. 4 + 1

II. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ÆÂÈÍ¬ÂÈ …ÂX‡RπÂúπ ©∆ÂOàö : 3 × 5 = 15

26. a) ü¢ÜËç»Â ‚Â£ÛT»Ò·Â» Ỗ ÄXŒ⁄∆Â¢∆ÂXÕÂ»ÂÈR êÕÂàö.

b) •ö|ÊëL„Ú√Â»ÂÈR  «ÂÈÃ¸‹  ‚ÛËâŒÈ¢  „Ú√ÊXx] Ú√ Ỗ»Û¢åπ  ‚Òàö«ÊπÂ

∞»ÊπÂÈ∆ÂO« ?
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27. a) ® x›ÂÇ»Â ÄXûÈπÂúπ ‚ÂêÈË∑¬Â≈πÂ›Â»ÂÈR Ã¬íÈà :

i) yÊWë]ŒÈ¢  •ö|Ò| Ỗ  ÆÂÈ∆ÂÈO  yÊWë]ŒÈ¢  ü¢{ÛËûÈË¡»ÂÈR  ‡ÂÈ·Â@  üÂ̆áJ

ßúö«ÊπÂ.

ii) •öáy Ỗ ¶ÆÂÈYÕÂ»ÂÈR ¬Â¢æ∑«Â …¢|ÊxÍYË¬Ú√ Ỗ {Û∆ ‚Òàö«ÊπÂ.

iii) é˘»Ê‹Ô»ÂÈR «ÂÈÃ¸‹ »ÚáXy Ỗ ¶ÆÂÈY«Â {Û∆π ‚Òàö«ÊπÂ

b) …XË¬Â}Ê∆ÂV∑ …ÂXü˘ÊÕÂ ÆÂÈ∆ÂÈO êÈË‚ÛËÆÈày˜Ô …ÂXü˘ÊÕÂπÂ›Â ( Mesomeric effect )

ÆÂÈ«̆W ß¬ÂÈÕÂ ÕÂW∆ÊW‚ÂπÂ›Â»ÂÈR Ã¬íÈà. 3 + 2

28. a) S N  1 ÄXŒ⁄∆Â¢∆ÂXÕÂ»ÂÈR êÕÂàö.

b) ü¢ÜË» Ỗ»ÂëY ÆÂÈÍ¬ÂÈ åZÃ¢«Â̆πÂúÕ Ø¢«ÂÈ ‚ÂÆÂÈå˘̧̊ ö ÆÂÈ∆ÂÈO ® åZÃ¢«Â̆πÂ›ÂÈ

¶ë@Ë» Ỗ»ÂëY ß¬ÂÈÕÂ åZÃ¢«Â̆πÂúÇ¢∆Â üÒ¬Œ⁄ÇÕ Ø¢«ÂÈ ≤¢«ÂÈ …ÂàËx\ŒÈ

ÆÂÈÍ‹∑ ∆ÛËàö. 3 + 2

29. a) …ÂXÃ‹ ‚ÛËâŒÈ¢ „Ú√ÊXx] Ú√ Ỗ»Û¢åπ ü¢{ÊëL„Ú√ Ỗ ÕÂã¸ö«ÊπÂ ∞»ÊπÂÈ∆ÂO« ?

® ÄXûÈŒÈëY •√ÂÇ¬ÂÈÕÂ ÄXŒ⁄∆Â¢∆ÂXÕÂ»ÂÈR êÕÂàö.

b) ‡ÂÈ·Â@ÕÊπÂÈÕÂ ∆Ú‹ ( Drying oils ) Ø¢«Â¬Ò»ÂÈ ?  ß«Âx@ yÊ¬Â≈πÂ›Ò»ÂÈ ? 3 + 2

III. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ÆÂÈÍ¬ÂÈ …ÂX‡RπÂúπ ©∆ÂOàö : 3 × 5 = 15

30. a) …ÂX«˘̊ÂÆÂÈ  ÄXŒ⁄ÕÂπÂ̧   A →  ©∆ÂS»ÂR ; ®  ÄXûÈŒÈëY  A ŒÈ  ¶¬Â¢ü̆Â«Â

‚Ê¢«ÂX≈ÕÂÏ 9 mol/dm 3  ¶Ç¬ÂÈ∆ÂO«. 30 çêÈ·Â«Â »Â¢∆Â¬Â •«Â¬Â ‚Ê¢«ÂX≈ÕÂÏ 4·5

mol/dm 3  ∑âÆÈŒ⁄πÂÈ∆ÂO«. „ÊÇ«ÂQëY ÄXûÈŒÈ ‡Ò∑√Ê 80 ü˘ÊπÂ ÆÂÈÈÇŒÈ‹È

∆π«ÂÈxÍ›ÂÈ_ÕÂ ‚ÂÆÂÈŒÈÕÂ»ÂÈR ∑¢√ÂÈõâíÈà.

b) ≤¢«ÂÈ ÄXûÈŒÈ ÕÒπÂ öP¬Ê¢∑«Â ÆÂÈÍ‹ÆÂ⁄»ÂÕÂÏ mol/dm 3 /s. „ÊÇ«ÂQëY ¶

ÄXûÈŒÈ ∑XÆÂÈ ( Order ) ∞»ÂÈ ? 3 + 2
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31. a) yÊ\àËŒÈ ÃÀÂ¬ Ỗ «ÊXÕÂ≈«Â ÃÀÂ¬ Ỗ …Âà}ÊÆÂÈÕÂ»ÂÈR êÕÂàö.

b) H 2  O ( l ) H 2  O ( g )  ®  …ÂXÄXûÈπ  ∆ H o  = 44 kJ  ÆÂÈ∆ÂÈO

∆ S o  = 118·8 × 10 – 3  kJ K – 1  ¶Ç¬ÂÈ∆ÂO«. çË¬Êê ÆÂÈ∆ÂÈO çË¬ÂÈ

‚ÂÆÂÈöPãŒÈëY«ÊQπÂ •«Â¬Â ©·ÂN∆ŒÈ»ÂÈR £∑@ „ÊÄ. 3 + 2

32. a) ≥‚ ỖJÕÊ£ ỖL»Â «ÂÈÃ¸ëË∑¬Â≈ çŒÈÆÂÈ«Â πÂä∆Â ‚ÂÍ∆ÂXÕÂ»ÂÈR Ã¬íÈà. êüÂ̆æ»Ê¢‡ÂÕÂÏ

25°C ©·ÂN∆ŒÈëY 0·02 ß«ÂQ¬ 0·01 M •öáy Ỗ ¶ÆÂÈY«Â êüÂ̆æ»Ê

öP¬Ê¢∑ÕÂ»ÂÈR ∑¢√ÂÈõâíÈà ÆÂÈ∆ÂÈO [ H +  ] ‚Ê¢«ÂX∆ŒÈ»ÂÈR £∑@ „ÊÄ.

b) πÛË£ ỖL ‚Ê£ Ỗ •»ÂÈR üXâπ Ỗ] ¶¬ Ỗ@ ê«˘Ê»Âå¢«Â „Òπ ∆ÂŒ⁄à‚ÂÃ„ÂÈ«ÂÈ ? 3 + 2

33. a) √ÒçŒÈ£ Ỗ xÍË‡Â«Â ¬ÂºÂ» ÆÂÈ∆ÂÈO yÊŒÈ¸∆Â¢∆ÂXÕÂ»ÂÈR Ã¬íÈà.

b) ‚ÂZŒÈ¢{Ê∆Â …ÂXÄXûÈ Ø¢«Â¬Ò»ÂÈ ?  ÆÂÈ¢√ÂÈπÂ√L ∑¬ÂπÂÈêxŒÈÈ •¢∆Â¬ Ỗ-

©·ÂN∑ÕÊÇ«ÂQ¬ÂÍ ∞x ‚ÂZŒÈ¢{Ê∆Â …ÂXÄXûÈ ? 3 + 2

34. a) ≤¢«ÂÈ ÄXûÈŒÈ ©·ÂN∆ ÆÂÈ∆ÂÈO ÕÒπÂ öP¬Ê¢∑ÕÂ»ÂÈR ‚Â¢Ã¢å˘‚ÂÈÕÂ ‚ÂêÈË∑¬Â≈ÕÂ»ÂÈR

Ã¬íÈà. ¶ ÄXûÈŒÈ»ÂÈR „‚Âàö.

b) ÕÊ¢| Ỗ „ÊÀ Ỗ-ºÊ£ Ỗ]¸»Â çŒÈÆÂÈÕÂ»ÂÈR Ã¬íÈà. ß«Â¬Â πÂä∆Â ‚ÂÍ∆ÂXÕÂ»ÂÈR

Ã¬íÈà.

c) êÈ«˘̊ÂW …ÂX«˘̊ÂÆÂÈ ÄXŒ⁄ÕÂπÂ̧ x@ ≤¢«ÂÈ ©«Ê„Â¬Â} xÍâ. 2 + 2 + 1
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êü˘ÊπÂ - D

D 1  

IV. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ≤¢«ÂÈ …ÂX‡Rπ ©∆ÂOàö : 1 × 10 = 10

35. a) ‚Â¢ûÍËæ∑∆Ê  Ã¢«Â̆  ö«ÊQM¢∆ÂÕÂ»ÂÈR  ( VBT )  ©…ÂûÍËÇö,  çx@£˜Ô  ||ÊX-

yÊüÛ¸çË£ Ỗ»Â ‚Â¢∑¬Â≈ÕÂ»ÂÈR êÕÂàö ÆÂÈ∆ÂÈO yÊ¢ãËŒÈ πÂÈ≈ÕÂ»ÂÈR ‚ÂÍÑö.

b) êëË»Â∆Ê πÂÈ≈‹ÃQM Ø¢«Â¬Ò»ÂÈ ?  üËàŒÈ¢ ‚Â£TË| Ỗ «ÊXÕÂ≈«Â êëË»Â∆Ê

πÂÈ≈‹ÃQMÕÂÏ 1·2 × 10 – 10  ¶Ç¬ÂÈ∆ÂO«. „ÊπÊ«Â¬ üÒàŒÈ¢ ‚Â£TË| Ỗ

çËà»Û¢åπ ¶πÂÈÕÂ êëË»Â∆ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà.

c) êÈË«˘̊Ú£ Ỗ •ÆÈÚÔ»Â»ÂÈR êÈË«˘˚Ú£ Ỗ ±‚ÛË‚ÂŒÈ»Ú√ Ỗ ¶Ç „Òπ …ÂàÕÂã¸‚ÂÈêà ?

d) åZ«Â›Â-•Œ⁄»ÂÈ Ø¢«Â¬Ò»ÂÈ ?  •‹»Ú» Ỗ»Â åZ«Â›Â-•Œ⁄ç»Â ¬ÂºÂ»ŒÈ»ÂÈR Ã¬íÈà.

3 + 3 + 2 + 2

36. a) Mg|Mg 2 +  | | Ag +  | Ag    ®    xÍË‡Â«ÂëY»Â    …ÂXÆÂ⁄≈    ÆÂÈÈ∑O   

‡ÂÄOŒÈ»ÂÈR ( Standard free energy ) ∑¢√ÂÈõâíÈà.

E
 o
 Ag   =  0·8 V   ÆÂÈ∆ÂÈO   E o

 Mg   =  – 2·37 V.

b) ® x›ÂÇ»Â ÄXûÈπÂ›Â»ÂÈR ‚ÂêÈË∑¬Â≈ ‚Âõ∆Â êÕÂàö :

i) xÍË£U»Â ÄXûÈ

ii) …ÂÄ¸» Ỗ»Â ÄXûÈ

c) õËëŒÈ¢»Â»ÂÈR  «ÒÕÂ¬ Ỗ]  ∑XÆÂÈ«Â¢∆  ‡XË·ÂK  •ç‹πÂ›Â  êÈ‡ÂX≈å¢«Â  „Òπ

üÒ…Â̧ â‚ÂÃ„ÂÈ«ÂÈ ?

d) »Â‚ ỖJ¸»Â ‚ÂêÈË∑¬Â≈ÕÂ»ÂÈR Ã¬íÈà. 3 + 4 + 2 + 1
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V. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ Ø¬Â√ÂÈ …ÂX‡RπÂúπ ©∆ÂOàö : 2 × 5 = 10

37. a) »Ú|ÛXËü¢ÜË» Ỗç¢«Â   ÆÈ|Ê-√Ú»Ú|ÛXËü¢ÜË»Â»ÂÈR   …ÂXûÍËπÊ‹ŒÈ«ÂëY   „Òπ

∆ÂŒ⁄à‚ÂÈêà ?

b) …ÌXáË» Ỗ»Â ‚ÊÆÂ⁄»ÂW …ÂàËx\ŒÈ»ÂÈR êÕÂàö. 3 + 2

38. …Ì|ÊöŒÈ¢ …Â¬ Ỗ‚Â£TË| Ỗ ÆÂÈ∆ÂÈO …Ì|ÊöŒÈ¢ •ûÍ√Ú√ ỖπÂ›Â «Â¬ Â ÄXûÈŒÈëY ©·ÂN∆ŒÈ

…Âà}ÊÆÂÈÕÂ»ÂÈR ãú‚ÂÈÕÂ …ÂXûÍËπÂÕÂ»ÂÈR êÕÂàö. 5

39. xÍáJ¬ÂÈÕÂ  ÆÍ„Â¬ Ỗ  «ÊXÕÂ≈«Â  250 cm 3  »ÂëY  ß¬ÂÈÕÂ  À¬Â‚ Ỗ  •ÆÍËçŒÈ¢

‚Â£TË| Ỗ ‹ÕÂ≈«Â ∆ÂÍ∑ÕÂ»ÂÈR ¶«Â‡Â̧    ( Standard )  …Ì|ÊöŒÈ¢  √ÚxÍXÆÈË| Ỗ

«ÊXÕÂ≈ÕÂ»ÂÈR  ©…ÂûÍËÇö  ∑¢√ÂÈõâŒÈÈÕÂ  ê«˘Ê»ÂÕÂ»ÂÈR  êÕÂàö.  ß«Â¬ÂëY  »Â√ŒÈÈÕÂ

¬Ê‚ÊŒÈç∑  ÄXûÈŒÈ ‚ÂêÈË∑¬Â≈ÕÂ»ÂÈR xÍâ. 5



9 Code No. 34

[ Turn over

( English Version )

Instructions : i) The question paper has four Parts.

ii) Parts A, B, C and D are common to all the candidates.

iii) Part A carries 10 marks. Each question carries one mark.

Part B carries 20 marks. Each question carries two marks.

Part C carries 40 marks. Each question carries five marks.

In Part D — D 1  carries 10 marks and D 2  carries

10 marks. Each question of D 2  carries five marks.

iv) Write balanced chemical equations and draw diagrams

wherever necessary.

PART – A

Note : i) Answer all the 10 questions.

ii) Questions have to be answered in one word or in one

sentence each. Each question carries one mark.

10 × 1 = 10

1. Write the reaction which occurs in zone of combustion in the blast furnace

during extraction of iron.

2. Name the first compound of a noble gas prepared by Bartlett.

3. Out of cobalt and zinc salts, which is attracted in the magnetic field ?

4. What is the pH of 0·5 M sulphuric acid ?

5. Why is the osmotic pressure of sodium chloride solution higher than

glucose solution ?
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6. Between aluminium chloride and potassium chloride, which one is

required in minimum concentration to coagulate gold sol ?

7. Name the crystal lattice in sodium chloride crystal.

8. Write the IUPAC name of ( ) CH 3   3
  N.

9. Name the substance to decolourise an oil.

10. What type of linkage is present between the polypeptide chains of

Insulin ?

PART – B

Note : i) Answer any ten questions.

ii) Each question carries two marks. 10 × 2 = 20

11. At low temperature carbon monoxide is a better reducing agent than

carbon. Explain with the help of Ellingham diagram.

12. Write the energy level diagram of Lithium molecule. Indicate the magnetic

property of it.

13. What is Chiral carbon atom ? Write the structure of α D ( + ) Lactic acid.

14. Calculate the time required to liberate 56 cm 3  of hydrogen at STP, if

5 amperes of current flows.

15. What is the action of potassium hydroxide on potassium dichromate ?

16. Write the Haworth structure of a non-reducing sugar.

17. Define gold number. Why is Gelatin added to gold sol ?
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18. What is the radius ratio-range of a BCC crystal ? Mention its coordination

number and geometry.

19. Why do transition metals form complex compounds ?

20. Give a reaction to show that glucose contains

i) five – OH groups

ii) six carbon atoms in a straight chain.

21. 3 g of urea is dissolved in 9 g of water. Calculate the relative lowering of

vapour pressure.

22. Identify the reagents A, B, C and D in the following conversions :

C 2  H 6  
  A  

 → CH 3  CH 2  Cl  
  B  

 → CH 3  CH 2  OH  
  C  

 →

CH 3  COOH  
  D  

 → CH 4  

PART – C

I. Answer any two of the following questions : 2 × 5 = 10

23. a) Describe Parke’s process of desilverisation of lead.

b) Write the IUPAC names of the following :

i) 



 Cu ( ) NH 3   2 ( ) H 2 O   2    Cl 2  

ii) Na 3 [ ] Fe ( Ox ) 3    . 3 + 2

24. a) Write the electronic configuration of oxygen molecule. Calculate

the bond order. Between oxygen molecule and hydrogen

molecule which is more stable and why ?

b) What is a ligand ? Give an example of polydentate ligand. 3 + 2
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25. a) How is pure potassium dichromate manufactured from chromite

ore ?

b) Name a metal which shows photoelectric effect. 4 + 1

II. Answer any three of the following questions : 3 × 5 = 15

26. a) Explain the mechanism of sulphonation of Benzene.

b) What happens when acetaldehyde is treated with dil. NaOH

solution ? Write the equation. 3 + 2

27. a) Write the equations for the following reactions :

i) Dry distillation of calcium acetate and calcium benzoate.

ii) Acetic acid is treated with phosphorus pentachloride.

iii) Phenol is treated with dil. Nitric acid.

b) Mention any two differences between mesomeric effect and

inductive effect. 3 + 2

28. a) Explain the mechanism of S N  1 reaction.

b) Give a reaction to show that benzene contains three double

bonds. Mention a test to indicate that these double bonds are

different from those of alkenes. 3 + 2

29. a) What happens when Benzaldehyde is treated with strong

solution of sodium hydroxide ? Explain the mechanism involved

in the reaction.

b) What are drying oils ? What are the causes of it ? 3 + 2
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III. Answer any three of the following questions : 3 × 5 = 15

30. a) For the first order reaction A → products, the initial

concentration of A was found to be 9 mol/dm 3 . After

30 minutes, the concentration was reduced to 4·5 mol/dm 3 .

Calculate the time required for 80% completion of the reaction.

b) The unit of velocity constant of a reaction is mol/dm 3 /s. What

is the order of the reaction ? 3 + 2

31. a) Explain the buffer action of a basic buffer solution.

b) For a process  H 2  O ( l ) H 2  O ( g ),  ∆ H o  = 44 kJ and

∆ S o  = 118·8 × 10 – 3  kJ K – 1 . Calculate the temperature at

which water vapour and water are at equilibrium. 3 + 2

32. a) Write the mathematical form of Ostwald’s dilution law. Calculate

the dissociation constant of 0·01 M acetic acid if the degree of

dissociation at 25°C is 0·02. Also calculate [ H +  ] concentration.

b) Describe Bredig’s arc method for preparation of gold sol. 3 + 2

33. a) Explain the construction and working of Daniel Cell.

b) What is spontaneous process ? Why is melting of ice a

spontaneous process though it is endothermic ? 3 + 2

34. a) Write an equation which relates the rate constant and

temperature of a reaction. Name the reaction.

b) State van’t Hoff-Charles law and write its mathematical form.

c) Give an example for Psuedo first order reaction. 2 + 2 + 1
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PART – D

D 1  

IV. Answer any one of the following : 1 × 10 = 10

35. a) With the help of VBT explain the hybridisation in tetracarbonyl

nickel. Indicate the magnetic property of it.

b) Define solubility product. The solubility product of barium

sulphate is 1·2 × 10 – 10 . Calculate the solubility of barium

sulphate in water.

c) How do you convert methyl amine to methyl isocyanide ?

d) What is Zwitterion ? Write the structure of Zwitterion of alanine.

3 + 3 + 2 + 2

36. a) Calculate the change in standard free energy for the cell

Mg|Mg 2 +  | | Ag +  | Ag.

E
 o
 Ag  = 0·8 V  and  E

 o
 Mg  =  – 2·37 V.

b) Explain the following reaction with equations :

i) Kolbe’s reaction

ii) Perkin’s reaction.

c) How is helium separated from the mixture of noble gases by

Dewar’s method ?

d) Write Nernst equation. 3 + 4 + 2 + 1
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D 2  

V. Answer any two of the following : 2 × 5 = 10

37. a) How is m-dinitrobenzene prepared in the laboratory from

nitrobenzene ?

b) Explain the general test for proteins. 3 + 2

38. Describe an experiment to show the effect of temperature on the rate

of the reaction of potassium persulphate and potassium iodide. 5

39. Describe the estimation of the amount of ferrous ammonium sulphate

present in 250 cm 3  of the Mohr’s solution using standard potassium

dichromate solution. Give the equation. 5

                  


